AB Calculus: Mean Value Theorem Function Practice Name:

1. State the Mean Value Theorem (MVT) in 2 ways: -
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2. For each of the following, (a) state whether or not the function satisfies the hypojtiesis of the MVT over
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. Suppose f(x) is a dlfferentlablg function on the mterval 1] such that f(—=7) = 4and f(1) = —1. [\
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b) Exp\lain hy there must be at least one point on the interval (-7, 1) where the c{erlvatlve is —E
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4. Make a sign chart for the following functions.
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5. For each function, find the critical numbers of f and where the function is increasing or decreasing and
find all relative extrema.
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